C:# |dentifying Same Slope Name:

Deter mine which choice has the same slope as the one shown.

1)
/4
35
2)
A .
36

A.

40

A. B. C. D.
A i A ) A 9 i
38 44 6 7
3 A. B C. D
28 i 11 30 7 32
4 10 10 1 7
4) A. B. C. D.
1 6 8 8 14
5) A. B. C. D.
3 21 12 12 18
W 7 W 37 28 12 30

B. C. D.
9 39 5

Answers
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C:# |dentifying Same Slope

Name: Answer Key
Deter mine which choice has the same slope as the one shown. Answers
1) A. B. C. D.
1 D
A42 e D0 s
35 40 9 39 5 3. C
s, C
2) A. B. C. D.
5 B
A 54 i 62 55 11
36 38 44 6 7
3) A. B. C. D.
28 i 11 A 30 32
4 10 10 7
4) A. B. C. D.
1 6 8 14
5) A. B. C. D.
3 21 12 12 18
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